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13-41.  Determine the maximum distributed loading that

. W
can be applied to the wide-flange beam so (hat the brace T
CD does not buckle. The brace is an A-36 steel rod having a pryvey l J l l ARAR
diameter of 50 mm. B L
. C 5 —1-—
¥ im ) 2m —~
Support Reactions:

{+IM, 20 4wl -Fp(D=0  Fop= 400w
Sectfon Properties:

A=2(005") =0825(10%) s o

1= 5 (00s') =sn6s625(10”) m o

im

DF
Critical Buckling Load: K =1 for a colurn with both ends pinned,
Applying Euler's formula,
el 4’;,0"
fe=bfoo= TR
(Kleo) _{
00w = 7 (200)( 10’)[97.65625[ lU"):r] i ;
[1{$)} L
| ¥
= 9462.36 N/m = 9.46 kN/m Ans [ 2m | 2n By
Feo

Critical Stress: Euler's formulais only valid if ¢, < 6y,

P, 400(9462.36)
0. =t L 98 MPac g, = 0.K!
A T 3 0y = Z0MPa(0.KY)
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